
1. v}z} ·ð¤ ¥çÏçÙØ× Ùð ç·¤â Âý·¤æÚU ÖæÚUÌèØ ÂýàææâÙ
·¤ô çÕýçÅUàæ àææâÙ ·¤æ çãUSâæ ÕÙæ çÎØæ Íæ?

In which way the Indian Administration
transferred to British Government by the Act
of 1858 ?
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ÙôÅU Ñ ç·¤‹ãUè´ Âæ¡¿ ÂýàÙô´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð ´ ·ð¤
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Note : Answer any five questions. All questions carry
equal marks.
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2. ¥æ¢‚Ü-ÙðÂæÜè Øéh v}vy-v{ ·ð¤ ·¤æÚU‡æ °ß¢
ÂçÚU‡ææ×ô´ ·¤è ¥æÜô¿Ùæˆ×·¤ çßßð¿Ùæ ·¤èçÁ°Ð

Critically examine the causes and effects of
the 1814-16 Anglo-Nepalese War.

3. ç·¤â Âý·¤æÚU çÕýÅðUÙ Ùð ÖæÚUÌèØ ¥æçÍü·¤ âæÏÙô´ ·¤ô
¥ÂÙð ¥Ùé·ê¤Ü ÕÙæØæ?

In which kind of process used by Britain than
Indian economic sources were gone to her
hands ?

4. ßð @Øæ ·¤æÚU‡æ Íð çÁÙâð ÖæÚUÌèØ ƒæÚðUÜê ©Ulô»,
¥æÏéçÙ·¤ ©Ulô»ô´ ×ð´ ÂçÚUßçÌüÌ ·¤ÚU çÎ° »° Íð?

What are the causes which one convert Indian
Domestic Industry as a Modern Industry ?

5. âéÏæÚU ¥æ¢ÎôÜÙô´ Ùð ç·¤â Âý·¤æÚU çÕýçÅUàæ âæ×ýæ…ØßæÎ
·¤ô âæ×æçÁ·¤ ÂçÚUßÌüÙ ·ð¤ çÜ° ÂýðçÚUÌ ç·¤Øæ Íæ?

How steps were taken by the reform
movements agencies which one leads to go
for social changes for British Imperialism ?

6. çS˜æØô´ ·ð¤ ¥çÏ·¤æÚUô´ ·¤ô ·ñ¤âð ¥æ¢‚Ü àææâÙ Ùð
ÕÉ¸Uæßæ çÎØæ Íæ?

How english administration developed to grow
for women rights ?
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7. ·ñ¤âð »æ¢ÏèÁè mæÚUæ ÂýðçÚUÌ ¥æ¢ÎôÜÙô´ Ùð ÖæÚUÌèØô´ ×ð´
Áæ»ëçÌ ©UˆÂ‹Ù ·¤è?

Describe how Gandhian Movements gives
intution for awakening to Indians ?

8. âéÖæá ¿‹¼ý Õôâ Ùð ç·¤â Âý·¤æÚU Îðàæ ·¤è ÁÙÌæ ·ð¤
çÜ° ·¤îæüÃØô´ ·¤æ çÙßüãUÙ ç·¤Øæ?

How Subhas Chandra Bose done his work for
fulfilment of the people of Nation ?

9. âÚUÎæÚU ÂÅðUÜ Ùð ç·¤â Âý·¤æÚU çÚUØæâÌô´ ·¤ô çßÜèÙè·ë¤Ì
ç·¤Øæ Íæ?

Which one the process adopted by Sardar
Patel for integration of Princely States ?

10. ÒÒÖæÚUÌ ·¤è çßÎðàæ ÙèçÌ Îèƒæü·¤æÜ Ì·¤ ¥â¢Ü‚ÙÌæ
âð â¢Ü‚Ù ÍèÐÓÓ ©UÂÚUô@Ì ·¤ÍÙ ·¤è ¥æÜô¿Ùæˆ×·¤
ÃØæBØæ ·¤èçÁ°Ð

“Indian Foreign Policy depend as a part of
inalignment for longer time.” Critically solved
for the line of above statement.
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